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L. AR ECT Oy r R H 2
(A) y=x+cosx (B) y=x+sinx

(C) y=+x (D) y=¢™
2. NOURRH, BERAE R EUGR (0,+00) L HTHE R

(A) y=-x (B) y=2"

1

(C) y=x? (D) y=log,(—x)
3. WabeR, FHa>b, N

A—<— B. 2°>2"

C. Iga>lgh D. sina>sinb
4. Tyl HEh, {HE0N[0,1] B

(A) y=x’ (B) y=sinx

(C) y= ! (D) y=+1-x
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SR f(x)=2" +1og, | x| FIZE BAECH
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log, x|, O0<x<4, "
oz, ] Eab,c,d REAHIFK TS, A

x2 —10x+25,x > 4.

6. CLENRR 2L f(x):{
f(a)=f(b)=f(c)= f(d), N abcd HIBUEIE B A&
(A) (24,25) (B) (18,24) (C) (21,24) (D) (18,25)

TR f(x)=x|x|. HHAMExe[l, +0), 3 f(x-2k)—k<0, N k FEEEREE

(A) (2,+0) (B) (14) © (%,+oo) (D) (i,+oo)






